\-03-4o

deal gas quasi-static expands isothermaly: Y V — “Y
How much heat is needed
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deal diatomic gas ot T = 0K compressed adiabaticaly vV —
FLV\A j—‘_
PV - nRT, dE, -d0 -dw,  dw - pdl

Adiabatic (overmi) > dQ = O, dWw+0 — dEir () + O — AT=*0
n section 2.6 the authors of the book derive (34Y):
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How much work/s or power is needed?

Latent heat for ice: 334 kl/kﬁ - s34 g
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2004 HW,0,7Tq = 60°C
Estimate the total chanﬁe n en’rroPS as the mixture comes to
equillsrium at T

we look at this in steps, the entropy chanﬁe due to:

4. Metting of the ice

2. Heat transfer from the cold water (coming from the ice) to the hot water
3. mixing of the two bodies of water

The me|+\n3 is at a fixed temperature
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\sobaric heat transfer, see Ex. 4l in the book @
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But, what about T

55°C
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| stop here, | am not sure the authors of the book had all these detais in mind,
but we have to have in mind, that we do not know how the ice melts in the water.
The details are not accessible, and this is Just an estimate of the total entropy
chanﬁes. It is positive, and we could calculate it using the initial information gven.




